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Guess Paper – 2010

Class – X

Subject – Mathematics                                                                             
MM-80        






                TIME-3HRS
SECTION ‘A’

1. What is the name given to a system of simultaneous linear equations, if it has no solution.

2. For what value of k, will the equations 2x – y +8 =0 and 4x –ky +16 =0 represent coincident lines.

3. Find k so that 4k +8, 2k2 +3k + 6 and 3k2 +4k +4 are 3 successive terms of an A.P
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4.  Evaluate 
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5. If the area of a semicircular region is 77cm2, find its perimeter.

                              6. O is the centre of the circle, PQ is a tangent to the circle at A. 

                                  If 
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PAB=58
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, find 
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BAO.

                              7. Find a quadratic polynomial whose zeroes are 5+
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 and 5 -
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.
      8. In a 
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ABC, given that  DE//AB and AD = x – 4, CD= 4, BE = 3x – 19 , EC = x – 3, find the value of x.

      9. If  HCF OF 210 and 55 is expressible in the form 210x5+55y , then find the value of y.
   10. If a number x is chosen at random from the numbers -2,-1,0,1,2,3 what is the probability that  
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SECTION ‘B’
11. A circular field has a circumference of 360 km.  Three cyclists start together and can cycle 48, 60 and 72 km a day respectively round the field.  When will they meet again?

OR
The length, breadth and height of a room are 8m 25cm, 6m 75cm       and 4m 50cm, respectively.  Find the length of the longest rod which can be used to measure the three dimensions of the room exactly.

12. Solve:      
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13. Is 184 a term of the A.P 3, 7, 11, 15, - - - - - - - ?

                                                                14. If 
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 then show that 
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                                                                15.find the co-ordinate of the points of of trisection of the line segment joining A(-3,2) and B(9,5).
SECTION- ‘C’
16.  A man when asked how many hens and buffaloes he has, told that his animals have 120 eyes and 180 legs.                                                                           How many hens and buffaloes does he has?

17. .Find the middle term of the A.P   1,8,15_ _ _ _ _ _ 505

[image: image36.png]     Or   Find a, b such that 8, a, b, 2 are in A.P.

18.Prove that         
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                                            OR

  
  Prove that   
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19.Construct a 
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ABC in which AB = 6cm, 
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B = 60
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and 
[image: image22.wmf]Ð

A= 45
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. Construct a 
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AQR similar to 
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ABC such that each side of  
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AQR is 1.5 times that of the corresponding side of 
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ABC
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20.The shape of the top of a table in a restaurant is that of a sector of a circle with centre O and 
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BOD = 90
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. If                  

    BO = OD = 60cm, find

   
  i)the area of the top of the table

  

  ii)the perimeter of the table  (take 
[image: image30.wmf]p

= 3.14)

21. Find the coordinates of the point which is at a distance of 2 units from (5,4) and 10 units from (11,-2)

22. Three horses are tethered at 3 corners of a triangular plot having sides 20m, 30m and 40m with ropes of 7m length each. Find the area of the plot which can be grazed by the horses.

                         OR

The shaded portion in this figure represents the area swept by a wiper of a car. Calculate the area swept by the wiper, if  OA= 7cm and OC = 21cm.

                                       [image: image31.png]



23. A square field and an equilateral triangular park having equal perimeters. If the cost of ploughing the field at the rate of Rs.5 per mt sq. is Rs.720, find the cost of maintaining the park at the rate of Rs.10 per mt sq.

                          OR    

An iron sphere of radius 3cm is melted and recast into small spherical balls of radius 1cm each. Assuming that there is no wastage in the process, find the number of small spherical balls made from the given sphere.
24. If the points ( a, 0), ( 0, b) and ( 1, 1) are collinear, show that  
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25. M is the mid – point of the side CD of parallelogram ABCD. BM, when joined meets AC in L and AD produced in E. Prove that EL = 2 BL.

SECTION – D (6 marks each)


26.The interior of a building is in the form of a right circular cylinder of radius 7m and height 6m, surmounted by a 
right circular  cone of same radius and of semi-vertical angle 30
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. Find the cost of painting the building from inside at the rate of Rs. 30/m
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OR

 An open metal bucket is in the shape of a frustum of a cone mounted on a hollow cylindrical base made of the 
same metallic sheet.  Tshe diameters of two circular ends of the bucket are 45cm, and 25cm., The total vertical height of
 the bucket is 40cm, and that of the cylindrical base is 6cm.  Find the area of the metallic sheet used to make the bucket 
also find the volume of water that bucket can hold.

27.The following distribution gives the daily income of 50 workers of a factory

	Daily income in Rs
	100-120
	120-140
	140-160
	160-180
	180-200

	Number of workers
	12
	14
	8
	6
	10


  Convert the distribution above into a ‘less than’ type cumulative frequency distribution and draw its ogive and hence
 find the median
28. Prove that the ratio of the areas of two similar triangles is equal to the ratios of squares of their corresponding 
sides.  Using the above:Prove that the areas of the equilateral triangle described on the side of a square is the half the 
area of the equilateral triangle, described on its diagonal.
29. a man in a boat rowing away from a light house , 150 m high, takes 2min to change the angle of elevation  of the 
top of the light house from 600 to 450 .Find the speed of the boat.        
OR

From a window (60m high above the ground ) of a house in in street , the angle of elevation of   And depression of the
 top and the foot of another house on opposite side of a street are  600 and 450 Respectively .Find the height of the 
opposite
30. Two tapes together can fill a tank in 
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 hours.  The tap of larger diameter takes 10hours less than  the smaller 
one to fill the tank separately.  Find the time  in which each tap can separately fill the tank?
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